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pocessAIN. PROGRAM*

PROGRAM TEST

DOUBLE PRECISION X,ALPHA,BETA xc,XL,XG,XW,XBAR,XBAR1,SD1,SD,SKEW1 .SKEW,XY,
MUE,GT1,GT2,GT3,GINV,GTB1,GTB2,GTB3,GTB1 H,GTB2H,GTB3H,

GTB11,GTB2I,GTB3I,GTB1 HC,GTB2HC,GTB3HC,GTB1IC,GTB2IC,
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GTB3IC, TLLT, TULT, TOULT, TOLLT,JLLT,JULT,JOULT,JOLLT,HLLT,HULT,

HOULT,HOLLT,CLLT,CULT,COULT,COLLT, TLOWER,UPPER,OLOWER,

OUPPER,GTB1HU,GTB2HU,GTB3HU,GTB1IU,GTB2IU,GTB3I

GTB1 HCU,GTB2HCU,GTB3HCU,GTB1 ICU,GTB2ICU,GTB3ICU,CONDT

rear  JLTJILTLJOLLTIDOULT1

DIMENSION  XY(50),X(50),GTB1 (2000),GTB2(2000),GTB3(2000),GF1 (6)

COMMON ISEED/IX

DATA (GF1(L),L=1,6)/0.8856,0.8986,0.9385,1.0778,1.1675,1.5993/

EXTERNAL DCBRT.UMACH

IX=357897

IK=0

KB=2000

LOOP=3000

BETA=1.00
OPEN(0,FILE='A:0UTPUT2.0UTi)
WRITE(Y) 'ENTER SIGNIFICANT LEVEL'
READ(**) SIGN

WRITE(Y) 'ENTER NUMBER OF SAMPLE'
READ(Y) N

WRITEC,*) 'ENTER POPULATION DISTRIBUTION'
READ(Y) M

RN=N

AB=INT((KB+1.0)*(1.0-SIGN))
ABU=INT((KB+1.0)*SIGN)
ABC=INT((KB+1,0)*(1.0-SIGN/2.0))

ABCU=INT((KB+1.0)*(SIGN/2.0))



COVvT=0.00
COVUT=0.00
COVLT=0.00
COVJ=0.00
cCOoVuj=0.00
COVLJ=0.00
COVH=0.00
COVUH=0.00
COVLH=0.00
COVC=0.00
covuc=0.00
COVLC=0.00
TLT1=0.00
TOLLT1=0.00
TOULT1=0.00
JLT1=0.00
JOLLT1=0.00
JOULT1=0.00
HLT1=0.00
HOLLT1=0.00
HOULT1=0.00
CLT1=0.00
COLLT1=0.00
COULT1=0.00
IF (M.EQ.1) THEN
WRITE(*¥) 'ENTER NDF
READ(*¥) NDF
RMEAN=0.00
SIGMA=1.00
e+ MEAN AND SD OF POPULATION
P CHISQUARE DISTRIBUTION  ***
MUE=NDF
RNDF=NDF
GOTO 500

ELSE IF (M.EQ.2) THEN



WRITE(Y) 'ENTER SIGMA'
READ(V) SIGMA
RMEAN=0.00
pooesMEAN AND - OF POPULATION* "
peece OGNORMAL DISTRIBUTION® <
MUE=EXP(RMEAN+(SIGMA**2)/2.0)
GOTO 600

ELSE IF (M.EQ.3) THEN
WRITE(Y) 'ENTER ALPHA'
READ(Y) ALPHA
peersMEAN AND SD OF POPULATION?
Pk GAMMA DISTRIBUTION# e
BETA=10.0
MUE=ALPHA*BETA
GOTO 700

ELSE
WRITE(**) 'ENTER ALPHA AND L'
READ(**) ALPHA, L
peeecsMEAN AND SD OF POPULATION**++%
poeec\WEIBULL DISTRIBUTION e
MUE=BETA*GF1(L)
GOTO 800

END IF

500 DO 50 J=1,LOOP

501 DO 51 E1,N
CALL CHISQUARE(RMEAN,SIGMA, IK,NDF,XC)
X(I)=XC
XY(I)=XC

51 CONTINUE
GOTO 502

600 DO50 =1,LOO0P

601 DO 61 E1N

CALL LOGNORMAL(RMEAN.SIGMA, IK,XL)
X(1)=XL

XY()=XL
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61

700

701

71

800

801

81

502

52

511

CONTINUE
GOTO 502
DO 50 J=1,LOOP
DO 71 1=1N
IF (ALPHA.EQ. 1.0) THEN
CALL GAMMA2(BETA,XG)
ELSE IF (ALPHA.GT. 1.0) THEN
CALL GAMMAS(ALPHA,BETA XG)
ELSE
CALL GAMMAL (ALPHA,BETA,XG)
END IF
X(1)=XG
XY(1)=XG
CONTINUE
GOTO 502
DO 50 J=1,LOOP
DO 81 1=1N
CALL WEIBULL(ALPHA, BETA,XW)
X(I)=XW
XY (I)=XW
CONTINUE
CALL XBAR_SD(XBAR,SD,SKEW,X;,N)
SKEW1=SKEW
XBAR1=XBAR
SD1=SD
K=1

IF (K.LE.KB) THEN

CALL BOOTSTRAPAXY,GT1,GT2,GT3,MUE)

GTBL(K)=GT1
GTB2(K)=GT2
GTB3(K)=GT3
K=K+1
GOTO 52

END IF

CALL SORT(GTBL,KB)
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521

5011

522

CALL SORT(GTB2,KB)

CALL SORT(GTB3,KB)
GTB1H=GTB1(AB)
GTB1HU=GTB1(ABU)
GTB2H=GTB2(AB)
GTB2HU=GTB2(ABU)
GTB3H=GTB3(AB)
GTB3HU=GTB3(ABU)

GTB1 HC=GTBL (ABC)
GTB1HCU=GTB1(ABCU)
GTB2HC=GTB2(ABC)
GTB2HCU=GTB2(ABCU)
GTB3HC=GTB3(ABC)
GTB3HCU=GTB3(ABCU)
CONDT=(SKEW1/(6.0*SQRT(RN)))-(3.0*SQRT(RN)/(4.0*SKEW1))
IF (SKEW1.LT.0.00) GOTO 521

IF (GTB1 H.LT.CONDT) GOTO 5011

IF (GTB1HU.LT.CONDT) GOTO 5011
IF (GTB1HC.LT.CONDT) GOTO 5011
IF (GTB1 HCU.LT.CONDT) GOTO 5011
GOTO 522

IF (GTB1H.GT.CONDT) GOTO 5011

IF (GTB1HU.GT.CONDT) GOTO 5011
IF (GTB1 HC.GT.CONDT) GOTO 5011
IF (GTB1HCU.GT.CONDT) GOTO 5011
GOTO 522

IF (M.EQ.1) THEN GOTO 501

ELSE IF (M.EQ.2) THEN GOTO 601
ELSE IF (M.EQ.3) THEN GOTO 701
ELSE GOTO 801

END IF
GTB1I=(-1.0+SQRT(1.0-4.0%(SKEW1/(3.0*SQRT(RN)))*(SKEW1/(6.0*SQRT(RN))-
GTB1 H)))*3.0*SQRT(RN)/(2.0*SKEW1 )
ZY=DCBRT(1.0+SKEW1*(GTB2H/SQRT(RN)-SKEW1/(6.0*RN)))

GTB2I=(3.0*SQRT(RN)/SKEW1 r(ZY-1.0)
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CALL INVERSE2(GINV,N,SKEW1,GTB3H)

GTB3I=GINV
GTB1IU=(-1.0+SQRT(L.(M.0*(SKEW1/(3.0*SQRT(RN)))*(SKEW1/(6.0*SQRT(RN))-
GTB1H )))* .0*SQRT(RN)/(2.0*SKEW1)

ZYU=DCBRT(1.0+SKEW1*(GTB2HU/SQRT(RN)-SKEW1/(6.0*RN)))
GTB2IU=(3.0*SQRT(RN)/SKEW1 )*(ZYU-1.0)

CALL INVERSE2(GINV,N.SKEW1 ,GTB3HU)

GTB3IU=GINV

GTB1 IC=(-1,0+SQRT(1.0-4.0%(SKEW1/(3.0*SQRT(RN)))*(SKEW1/(6.0SQRT(RN))-
GTBL HC)))*3.0*SQRT(RN)/(2.0*SKEW )

ZYC=DCBRT(1.0+SKEW1*(GTB2HC/SQRT(RN)-SKEW1/(6.0RN)))
GTB2IC=(3.0*SQRT(RN)/SKEW1)*(ZYC-1.0)

CALL INVERSE2(GINV,N,SKEW1,GTB3HC)

GTB3IC=GINV

GTB1ICU=(-1.0+SQRT(1.0-4.0*(SKEW1/(3*SQRT(RN)))*(SKEW1/(6.0*SQRT(RN))-
GTB1 HCU)))*3.0*SQRT(RN)/(2.0*SKEW1)

ZYCU=DCBRT(1.0+SKEW1*(GTB2HCU/SQRT(RN)-SKEW1/(6.0*RN)))
GTB2ICU=(3.0*SQRT(RN)/SKEW1)*(ZYCU-1.0)

CALL INVERSE2(GINV,N,SKEW1,GTB3HCU)

GTB3ICU=GINV

CALL INTER_T(XBARZ,SD1,N,SIGN,TLLT, TULT, TOLLT,TOULT)

TLT=TULT-TLLT

TLT1=TLTL+TLT

TOLLT1=TOLLT1+TOLLT

TOULTL =TOULTL +TOULT

CALL INTER(XBAR1,SD1,N,GTB1l,GTB1IC, TLOWER,UPPER,OLOWER,OUPPER,GTB1IU,
GTB1ICU)

JLLT=TLOWER

JULT=UPPER

JOLLT=OLOWER

JOULT=OUPPER

JLT=JULT-JLLT

JLT1=JLTI+ILT

JOLLT1=JOLLT 1+JOLLT

JOULT1=JOULT 1+JOULT



50

CALL INTER(XBAR1,SD1,N,GTB2I,GTB2IC,TLOWER,UPPER,OLOWER,OUPPER,GTB2IU,
GTB2ICU)

HLLT=TLOWER

HULT=UPPER

HOLLT=OLOWER

HOULT=OUPPER

HLT=HULT-HLLT

HLT1=HLT1+HLT

HOLLT1=HOLLT1+HOLLT

HOULT1 =HOULT 1+HOULT

CALL INTER(XBAR1,SD1,N,GTB3I|,GTB3IC,TLOWER,UPPER,0OLOWER,OUPPER,GTB3IU,
GTB3ICU)

CLLT=TLOWER

CULT=UPPER

COLLT=OLOWER

COULT=0OUPPER

CLT=CULT-CLLT

CLT1=CLT1+CLT

COLLT1=COLLT 1+COLLT

COULT1=COULT1+COULT

CALL COVER_T(MUE,COVT,COVLT,COVUT,TLLT,TULT,TOLLT,TOULT)
CALL COVER_J(MUE,COVJ,COVLJ,COVUJ,JLLT,JULT,JOLLT,JOULT)
CALLCOVER_H(MUE,COVH,COVLH,COVUH,HLLT,HULT,HOLLT,HOULT)
CALL COVER_C(MUE,cove,COVLC,COVUC,CLLT,CULT,COLLT,COULT)
CONTINUE

COVT1=COVT/LOOP

COVLT1=COVLT/LOOP

COVUT1=COVUT/LOOP

COVJ1 =COVJ/LOOP

COVLJ1 =COVLJI/LOOP

COVUJ1=COVUJ/LOOP

COVH1=COVH/LOOp

COVLH1 =COVLH/LOOP

covu H1=COVUH/LOOp

COVC1=COVC/LOOP
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53

54

55

56

571

572

573

574
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COVLC1 =COVLC/LOOP

COVUC1=COVUC/LOOP

WRITE(0,53) COVT1,COVLT 11COVUT1

FORMAT(1X.'COVT="F10.5,1 X."COVLT-, F10.5,1 X,'COVUT-,F10.5)
WRITE(0,54) COVJ1,COVLJI1,COVUJI1
FORMAT(1X,'COVJ="F10.5,1X,'COVLJ=",F10.5,1X,.COVUJ=, F10.5)
WRITE(0,55) COVH1,COVLH1,COVUH1
FORMAT(1X,,COVH='F10.5,1X,,COVLH=",F10.5,1X,'COVUH=,F10.5)
WRITE(0,56) COVC1,COVLC1,COVUC1

FORMAT(1X, COVC=",F10.5,1X,,COVLC='"F10.5,1X,'COVUC='IF10.5)
ATLT=TLT 1/LOOP

ATOLLT=TOLLT 1/LOOP

ATOULT=TOULT1/LOOP

AJLT=JLT1/LOOP

AJOLLT=JOLLT1/LOOP

AJOU IT=JOULT 1/LOOP

AHLT=HLT1/LOOP

AHOLLT=HOLLT1/LOOP

AHOULT=HOULT1/LOOP

ACLT=CLT1/LOOP

ACOLLT=COLLT1/LOOP

ACO LT=COULTYLOOp

WRITE(0,571) ATLT,ATOLLT,ATOULT
FORMAT(1X,'ATLT-,F10.5,1X,/ATOLLT="F10.5,1 X, ATOULT=',F10.5)
WRITE(0,572) AJLT,AJOUT, AJOU LT

FORMAT(LX,'AJLT="1F10.5,1 X./AJOLLT="IF10.5,1 X, AJOULT='F10.5)
WRITE(0,573) AHLT,AHOLLT,AHOULT
FORMAT(1X,'AHLT-,F10.5,1X,'AHOLLT=",F10.5,1 X, AHOULT="F10.5)
WRITE(0,574) ACLT,ACOLLT,ACOULT

FORMAT(1X,/ACLT=", F10.5,1X,’ACOLLT='",F10.5,1 X.'"ACOULT="1F10.5)

END



SUBROUTINE RANDOM(!X,YFL)
REAL YFL

IY=1X*16807

IF (IY.LE.O) IY=IY+2147483647+1
YFL=IY

YFL=YFL*0.465661E-9

IX=1Y

RETURN

END SUBROUTINE

SUBROUTINE NORMAL(RMEAN,SIGMA, IK,XN)
DOUBLE PRECISION XN

COMMON /SEED/IX

PI=3.142857143

IF (IK.EQ.1) GOTO 3

1 CALL RANDOM(IX,YFL)

IF ((YFL.LE.O.0).OR.(YFL.GT.1.0)) GOTO 1
RONE=YFL

2 CALL RANDOM(IX.YFL)

IF ((YFL.LE.0.0).OR.(YFL.GT.1.0)) GOTO 2
RTWO=YFL
ZONE=SQRT(-2.0*ALOG(RONE))*COS(2.0*PI*RTWO)
ZTWO=SQRT(-2.0*ALOG(RONE))*SIN(2.0*PrRTWO)
XN=ZON E*SIGMA+RM EAN

IK=1

RETURN

3 XN=ZTWO*SIGMA+RMEAN

IK=0

RETURN

END SUBROUTINE

SUBROUTINE CHISQUARE(RMEAN,SIGMA,IK,NDF.XC)

DOUBLE PRECISION XN,XC



XC=0.0

DO 4 1=1,NDF

CALL NORMAL(RMEAN,SIGMA IK,XN)
XC=XC+(XN**2)

4 CONTINUE

RETURN

END SUBROUTINE

SUBROUTINE LOGNORMAL(RMEAN,SIGMA, IK,XL)
DOUBLE PRECISION XN,XL

CALL NORMAL(RMEAN,SIGMA, IK,XN)
XL=DEXP(XN)

RETURN

END SUBROUTINE

SUBROUTINE GAMMAL (ALPHA,BETA,XG)

DOUBLE PRECISION BG,P,Y,CHK1,CHK2,XG,ALPHA,BETA

COMMON /SEED/IX
BG=(EXP(1,00)+ALPHA)/EXP(1.00)
5 CALL RANDOM(IX,YFL)
IF ((YFL.LE.O.0).OR.(YFL.GE.-1.0)) GOTO 5
RONE=YFL
P=BG*RONE
6 CALL RANDOM(IX.YFL)
IF ((YFL.LT.0.0).0R.(YFL.GT.1.0)) GOTO 6
RTWO=YFL
IF (P.GT.1.00) GOTO 7
Y=P**(1.00/ALPHA)
CHK1=DEXP(-1,0%Y)
IF (RTWO.LE.CHK1) THEN
XG=Y*BETA
ELSE
GOTO 5
END IF

RETURN
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7 Y= -1.0"DLOG((BG-P)/ALPHA)

CHK2=Y**(ALPHA-1.00)

IF (RTWO.LE.CHK2) THEN
XG=Y*BETA

ELSE

GOTO 5

END IF

RETURN

END SUBROUTINE

SUBROUTINE GAMMA2(BETA,XG)
DOUBLE PRECISION BETA.XG

COMMON /SEED/IX

8 CALL RANDOM(IX.YFL)

IF (YFL.LE.O.0).OR.(YFL.GT.I.0)) GOTO 8
V=-1.00*ALOG(YFL)

XG=BETA*V

RETURN

END SUBROUTINE

SUBROUTINE GAMMA3(ALPHA BETA.XG)
DOUBLE PRECISION ALPHA BETA.XG
COMMON /SEED/IX

A1 =1.00/SQRT((2.00*ALPHA)-1.00)
A2=ALPHA-ALOG(4.00)
A3=ALPHA+(1.00/A1)
A4=1.00+ALOG(4.5)

9 CALL RANDOM(IX.YFL)

IF ((YFL.LE.O.0).OR.(YFL.GE.I.O)) GOTO 9
RONE=YFL

10 CALL RANDOM(IX.YFL)

IF (YFL.LT.0.0).OR.(YFL.GT.1.0)) GOTO 10
RTWO=YFL
V=A1*ALOG(RONE/(1.00-RONE))

Y=ALPHA*EXP(V)
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Z=(RONE**2)*RTWO
=A2+(A3*V)-Y

CHK1 =W+(A4)-(4.5*2)

IF (CHK1.GE.0.00) THEN
XG=Y*BETA

RETURN

END IF

CHK2=AL0G(2)

IF ( .GE.CHK2) THEN
XG=Y*BETA

ELSE

GOTO 9

END IF

RETURN

END SUBROUTINE

SUBROUTINE WEIBULL(ALPHA,BETA,XW)
DOUBLE PRECISION XW,ALPHA,BETA
COMMON /SEED/IX

1 CALL RANDOM(IX.YFL)

IF ((YFL.LT.0.0).OR.(YFL.GE..O)) GOTO 11
AK= -1.0"ALOG(1.00-YFL)
wx=1,00/ALPHA

XW=BETA*(AK*WX)

RETURN

END SUBROUTINE

SUBROUTINE XBAR_SD(XBAR,SD,SKEW,X,N)

DOUBLE PRECISION X,SX,SXX,SXX1,XBAR,SD,VAR,SXXX.SXXX1,MOMENT,SKEW

DIMENSION X(50)
RN=N
SX=0.00

SXX=0.00
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SXX1=0.00
SXXX=0.00
SXXX1=0.00

DO 12 1=1,N
SX=SX+X(l)

12 CONTINUE
XBAR=SX/RN

DO 13 1=1,N
SXX=(X(I)-XBAR)"2
SXX1=SXX1+SXX
SXXX=(X(I)-XBAR)**3
SXXX1=SXXX1+SXXX
13 CONTINUE
VAR=(SXX1)/RN
SD=DSQRT(VAR)
MOMENT=SXXX1/RN
SKEW=MOMENT/(SD**3)
RETURN

END SUBROUTINE

11

SUBROUTINE STUDENT(N,T,XBAR,SD,MUE)

DOUBLE PRECISION SN,T,XBAR,SD,MUE

RN=N
SN=SD/SQRT(RN)
T=(XBAR-MUE)/SN
RETURN

END SUBROUTINE

SUBROUTINE JOHNSON(GT1,N,T,SKEW)

DOUBLE PRECISION T,SKEW,GT1

RN=N

GT1=T+(SKEW/SQRT(RN))*(((T**2)/3.0)+(1.0/6.0))

255



256

RETURN

END SUBROUTINE

SUBROUTINE HALL(GT2,N,T,SKEW)

DOUBLE PRECISION T,SKEW,GT2

RN=N
GT2=T+(SKEW/SQRT(RN))*(((T**2)/3.0)+(1.0/6.0))+((SKEW**2)*(T**3)/(27.0*RN))
RETURN

END SUBROUTINE

SUBROUTINE CHEN(GT3,N,T,SKEW)

DOUBLE PRECISION T,SKEW,GT3

RN=N
GT3=T+(SKEW/SQRT(RN))*(((T**2)/3.0)+(1.0/6.0))+((SKEW**2)*(T+(2.0%(T**3)))/(9.0*RN))
RETURN

END SUBROUTINE

SUBROUTINE SORT(Z.KB)
DOUBLE PRECISION Z
DIMENSION Z(KB)
JUMP=KB
14 JUMP=JUMP/2.0
IF (JUMP.NE.0.0) THEN
J2=KB-JUMP
DO 15 J=1,J2
DO 15 1=J,1,-JUMP
J3=1+JUMP
IF (Z(1).GT.Z(J3)) THEN
s=z(l)
Z(1)=2(33)
Z(J3)=S
END IF

15 CONTINUE



GOTO 14
END IF
RETURN

END SUBROUTINE

SUBROUTINE BOOTSTRAPA XY,GT1,GT2,GT3,MUE)

DOUBLE PRECISION PP,XY,B,XBAR,SD,SKEW,MUE,T,GT1,GT2,GT3
DIMENSION PP(50),B(50),XY(50)

COMMON /SEED/IX

RN=N

DO 16 E1N

PP(I)=FLOAT(l)/FLOAT(N)

16 CONTINUE
DO 17 =1,N
18 CALL RANDOM(IX,YFL)

IF ((YFL.LT.0.0).0R.(YFL.GT.I.0)) GOTO 18
DO 19 IT=1,N

IT1=IT-1

IF (IT1.EQ.0) THEN

A1=0.0

ELSE

A1=PP(IT1)

END IF

A2=PP(IT)

IF (YFL.GT.A1).AND.(YFL.LE.A2)) THEN
B)=XY(IT)

END IF

19 CONTINUE

17 CONTINUE

CALL XBAR_SD(XBAR,SD,SKEW,B,N)
CALL STUDENT(N,T,XBAR,SD,MUE)
CALL JOHNSON(GT1,N, T,SKEW)

CALL HALL(GT2,N,T,SKEW)



CALL CHEN(GTS3,N,T,SKEW)
RETURN

END SUBROUTINE

SUBROUTINE INVERSE2(GINV,N,SKEW,GTB3H)
DOUBLE PRECISION TI,TT,F,GINV,DIFF,SKEW,GTB3H
DIMENSION TI(10000),F(10000), DIFF(10000)

RN=N

TT=0.00

[=0

TI( )=TT

20 IF (I.NE.O) TT=TI(l)

F()=TT+(SKEW/SQRT(RN))*((TT"2)/3.0+1.0/6.0)+((SKEW**2)*(TT+2.0 (TT**3))/(9.0*RN))-GTB3H

DIFF(1)=1.0+(2.0*SKEW*TT/(3.0*SQRT(RN)))+(SKEW**2)*(1,0/3.0+(2.0%(TT**2)))/(3.0*RN)

TI(I+1)=TI(1)-(F(1)/DIFF(1))

IF (DABS(F(I)/DIFF(1)).LT.0.0000001) THEN
GINV=TI())

ELSE
1=+
GOTO 20

END IF

RETURN

END SUBROUTINE

SUBROUTINE INTER_T(XBAR,SD,N,SIGN, TLLT,TULT,TOLLT,TOULT)

DOUBLE PRECISION XBAR,SD,TULT,TLLT, TOULT,TOLLT,TTS,TTO

RN=N
IF (SIGN.EQ.0.01) THEN
IF (N.EQ.10) THEN
TTS=3.250

TTO=2.821

IoT
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ELSE IF (N.EQ.20) THEN
TTS=2.861
TTO=2.539

ELSE IF (N.EQ.30) THEN

TTS=2.756

TTO=2.462
ELSE

TTS=2.576

TTO=2.326
END IF

ELSE IF (SIGN.EQ.0.05) THEN
IF (N.EQ.10) THEN
TTS=2.262
TT0=1.833
ELSE IF (N.EQ.20) THEN
TTS=2.093
TT0=1.729

ELSE IF (N.EQ.30) THEN

TTS=2.045

TT0=1.699
ELSE

TTS=1.960

TTO=1.645
END IF

ELSE

IF (N.EQ.10) THEN
TTS=1.833
TTO=1.383

ELSE IF (N.EQ.20) THEN
TTS=1.729
TTO=1.328

ELSE IF (N.EQ.30) THEN
TTS=1.699
TTO=1.311

ELSE



" =1.645
TTCM.282
END IF

END IF
TLLT=XBAR-SD*TTS/SQRT(RN)
TULT=XBAR+SD*TTS/SQRT(RN)
TOLLT=XBAR-SD*TTO/SQRT(RN)
TOU LT=XBAR+SD*TTO/SQRT(RN)
RETURN

END SUBROUTINE
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SUBROUTINE INTER(XBAR,SD,N,GTBI,GTBIC, TLOWER,UPPER,OLOWER,OUPPER,GTBIU,GTBICU)

DOUBLE PRECISION XBAR,SD,GTBI,GTBIC,TLOWER,UPPER,OLOWER,OUPPER,GTBIU,GTBICU

RN=N
TLOWER=XBAR-SD*GTBIC/SQRT(RN)
UPPER=XBAR-SD*GTBICU/SQRT(RN)
OLOWER=XBAR-SD*GTBI/SQRT(RN)
OUPPER=XBAR-SD*GTBIU/SQRT(RN)
RETURN

END SUBROUTINE

, ?1

SUBROUTINE COVER_T(MUE,COVT,COVLT,COVUT,TLLT, TULT, TOLLT,TOULT)
DOUBLE PRECISION MUE, TLLT,TULT, TOLLT,TOULT

LOGICAL EF

E=TLLT.LT.MUE

F=MUE.LT.TULT

IF (E.AND.F) COVT=COVT+1

IF (TOLLT.LT.MUE) COVLT=COVLT+1

IF (MUE.LT.TOULT) COVUT=COVUT+1

RETURN

END SUBROUTINE



SUBROUTINE COVER_J(MUE,COVJ,COVLJ,COVUJ,JI_LT,JULT,JOLLT JOULT)
DOUBLE PRECISION MUE,JLLT,JULT,JOLLT,JCILT

LOGICAL EF

E=JLLT.LT.MUE

F=MUE.LT.JULT

IF (E.AND.F) COVJ=COVJ+1

IF (JOLLT.LT.MUE) COVLJ=COVLJ+1

IF (MUE.LT.JOULT) COVUJ=COVUJ+1

RETURN

END SUBROUTINE

SUBROUTINE COVER_H(MUE,COVH,COVLH,COVUH,HLLT,HULT,HOLLT,HOULT)
DOUBLE PRECISION MUE,HLLT,HULT ,HOLLT,HOULT

LOGICAL EF

E=HLLT.LT.MUE

F=MUE.LT.HULT

IF (E.AND.F) COVH=COVH+1

IF (HOLLT.LT.MUE) COVLH=COVLH+1

IF (MUE.LT.HOULT) COVUH=COVUH+1

RETURN

END SUBROUTINE

SUBROUTINE COVER_C(MUE,cove,COVLC,COVUC,CLLT,CULT,COLLT.COULT)
DOUBLE PRECISION MUE,CLLT,CULT,COLLT.COULT

LOGICAL EF

E=CLLT.LT.MUE

F=MUE.LT.CULT

IF (E.AND.F) COVC=COVC+1

IF (COLLT.LT.MUE) COVLC=COVLC+1

IF (MUE.LT.COULT) COVUC=COVUC+1

RETURN

END SUBROUTINE
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